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i Math Il Independent and Dependent Events Part 2

a :

Suppose that a married couple will have 3 children and suppose that having a boy or

girl is equally likely each time. Consider the following events. /\

A: At least 2 consecutive children are of the same gender. 93 C

£ -\

B: Exactly 2 consecutive children are of the same gender. 23 G B &

C: No 2 consecutive children are of the same gender. /\ /\ /\ /\
2 6B o B GB 6

For each palr of events, determme if the events are mdependent
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Gamestop hired a consultant That surveyed 535 people who played four particular video games.
The survey indicated the following A= SU’C" 5103\\ Ball "kw(‘?f EX‘N&?C" (7

+ 35% liked the game Super Squish Ball Hamster Extreme Zero. 5: Fl“ bw bifds.' Hit Hhe (’YM
N\ S NS AN

* 61% liked the game Flabby Birgs: Hit the Qym! " Lea(hl{\a {s Fuv\‘,
*18% liked the game Learning is Funl AND Eight-Ball Pool (et a Lif Edition) D= 8-bsM ool (et o life eJ)I

+ 58% Liked the game Learning is Fun!
NSNS

Assume all “liking” of each game is INDEPENDENT
percents and show ALL work!

1. What is the Probability someone liked Super Squish Ball Hamster Extreme Zero AND Flabby Birds: Hit the

Gym!
P(an®)=P(R)-P(%) — P(ANR)= (0.39)(0.61)= 0.2135 oc 21.25%
2. What is the Probability someone liked Eight-Ball Pool (Get a Life Edition)? 0.18 0.2103

P(Cﬂb)-‘- 9(()' p(D) - 0.1%=0.58- p(D) P(D)= E;g ° o

31.03%
3. What is the Probability someone liked Learning is Fun! OR Eight-Ball Pool (Get a Life Edition)?
P(CUD)= PLLY+PLD) - PLO)- A(D) r P(CUD)= 0.3 03 o #,03%
| P(CUD):= 0.58+0.3103 - (0.53X(0.365) 5
& =
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. Eye Color i
NG
- N
Pink Red Black Total
Brown 5 3 6 | 14
Fur Colorﬁ White 71 = 5 —>14
L Black 10 6 —_— 26
Total 22 11 &21 54
Each of the following statements describes a pair of events. For each statement, determine if
the events seem to be independent based on the data in the table.
A random Black-Fur Hamster also has Black Eyes. SeemS
P(Black Fur N Black em) = P( quck Four) *P(Black Eyes) f lndependivt:
(0 )
= 2.2~ 0,952 s
A random White-Fur Hamster also has Pink Eyes.
P(Whtte For () Pink Eyes) = p(while fur) * P(Plak Eyes)
5 *
) Sq - —q:---'—;—') 0.1296= 0-1S%0 |
3 Close' — Seems independnt Im
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B Chances I Homeruns

Some Softball Players decide to have a home
run contest. Each player will get 30 tries to hit a
home run. The data collected from the contest is
to the left. Assuming all the chances are
independent events, find the probability of the
following

Buffy AND Angel hlt a home run.

P(BNA)= PIBYPU) 22,5 1y g, o
Yo%
Spike OR Willow hit a home run.
P(s0u)= otsmcww@ pw) 0,37 o
| 30 34. ‘N%

Spike AN? Angel DO 387 hit a home run.
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Buffy Angel Spike Willow p(sn A) S .?(q)- . 0.?.1»
(-Fl Acfagd  S:Spke W =Wk PGS © sn
EVERYBODY its a home run. NOBODY hits a home run.
PBNENSAY )= P(BYe P(A) PCs)-P(5)  P(BENANSAY ) = P(B)P(R)- p(5)-P()
=2 18,1 20,0400 1,14, 00 30,01
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